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FOREWORD

The Candidates’ Item Response Analysis (CIRA) report focuses on the Advanced
Certificate of Secondary Education Examination (ACSEE) in French Language
subject which was administered in May 2023. The National Examinations Council of
Tanzania (NECTA) is pleased to issue this report to provide feedback to all education
stakeholders on candidates’ performance in the subject.

The general performance of candidates who sat for French Language examination in
2023 was good. The candidates who passed the examination were 98.87 per cent of all
candidates who sat for the examination.

The good performance is attributed to the candidates’ ability to answer questions
according to the requirements and their competence in the tested topics in the French
Language. Contrarily, the candidates who got low marks faced challenges in
answering the examination questions. The challenges include the misinterpretation of
the questions and insufficient knowledge of French grammatical rules.

The report provides a detailed analysis of the factors which enabled the candidates to
perform well and the reasons which made some of them perform weakly in each
question. The feedback will enable education administrators, school managers,
teachers, students and education stakeholders to take appropriate measures in order to
improve teaching and learning of French subject. This will eventually upgrade
candidates’ performance in the future French Language examination administered by
the Council.

Finally, the Council would like to acknowledge examiners and all who participated in
the preparation of this report.

e

Dr. Said A. Mohamed
EXECUTIVE SECRETARY
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1.0 INTRODUCTION

This report provides candidates’ performance in the Advanced Certificate of
Secondary Education Examination (ACSEE) which was conducted in May
2023 in 123 French Language subject. The questions were set in accordance
with the 2010 syllabus stipulations and the 2019 examination format.

French Language examination had two papers, namely 123/1 French Language
1 and 123/2 French Language 2. 123/1 French Language Paper 1 comprised 10
short answer questions. Each question had 10 marks thereby, making a total of
100 marks. 123/2 French Language paper 2 had two sections: A and B. Section
A comprised two (2) compulsory questions. Each question carried 10 marks,
making a total of 20 marks. Section B comprised five (5) essay questions.
Candidates were required to answer four (4) questions, each weighing 20
marks, therefore, making a total of 80 marks.

The analysis presented in this report focuses on the candidates’ performance in
each question. It shows what candidates were required to do, the general
performance and the reasons for such performances. Sample Extracts of
candidates’ responses have been used to illustrate how candidates answered
questions in relation to the requirements of each question.

The performance of the candidates was categorised into three groups: good,
average and weak. The performance is regarded as good if a candidate scored
marks ranging from 60 to 100. Scores ranging from 35 to 59 marks is regarded
as an average performance. The candidates’ performance is perceived as weak
if a candidate scored marks ranging from 0 to 34. Three colours have been used
to represent candidates’ performance, whereas green denotes a good
performance, yellow represents an average performance and red shows weak
performance. Candidates’ performance in each topic is summarised in
Appendix.

The data analysis reveals that a total of 267 (100%) candidates sat for the
examination. The general performance of the candidates in the ACSEE 2023
French Language Examination was good, as 98.87 per cent passed the
examination. The performance increased by 3.67 per cent compared to the
2022 performance where 93.61 per cent of candidates passed. In the ACSEE
2023 French Language Examination, candidates attained different grades: A 03
candidates, B 23 candidates, C 101 candidates, D 89 candidates, E 40
candidates and S 08 candidates. It should be noted that 03 candidates failed the
examination after obtaining an F grade.
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2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH

2.1

QUESTION IN 123/1 FRENCH LANGUAGE 1

This part analyses the candidates’ performance by using the numbers and
percentages of candidates who attempted each question. Three categories,
namely good, average and weak, are used to show the percentages and scores
of the candidates. Moreover, the reasons for good, average and weak
performance have been given. Extracts have also been used to exemplify how
the candidates answered the questions.

Question 1: Parts of Speech

This question intended to test candidates’ ability to use adverbs and indefinite
pronouns in different situations. Candidates were given five compound words
in the categories of indefinite pronouns and adverb of place, manner and time.
They were required to fill in each blank with appropriate words to make
meaningful sentences. The question was as follows:

I. Complétez ces phrases par: n’importe qui, n’importe quoi, n’importe oll, n’importe
comment, n’importe quand.

(a) 11 ne réfléchit pas assez ce monsieur. Il dit souvent ...................
(b) Ma petite sceur, ne §’intéresse pas a la mode. Elle s’habille vraiment .................
(c) Monsieur Malik a laissé un message 2 ses enfants; «Attention, il ne faut pas ouvrir la porte

: , ¢’est trés dangereux.»
(d) Mon ami m’a dit; «demain matin, j'irai .................... pOuI m’amuser.»
(e) Mes amis, VOUS pOUVEZ PaSSET ............... , il y a toujours quelqu’un a la maison pour

vous accueillir.

This question was attempted by 267 (100%) candidates, out of whom 113
(42.32%) candidates scored from 0.0 to 3.0 marks. 46 (17.23%) candidates
scored from 3.5 to 5.5 marks and 97 (40.45%) candidates scored from 6.0 to 10
marks. The candidates’ general performance in the question was average, since
154 (57.68%) candidates scored from 3.5 to 10 marks allocated to the question.
Figure 1 summarises the candidates’ performance on question 1.



Scores

Figure 1: Candidates’ Performance in Question 1

A total of 97 (40.45%) candidates had good performance after supplying
correct answers to the given items and scoring from 6.0 to 10 marks.

In item (a), the candidates wrote the indefinite pronoun n’importe quoi
(whatever) were correct because it is a pronoun that can be used to replace the
idea explained in the first sentence in the pair. With this correct response the
sentence reads in English as He does not think enough when speaking. He
always speaks whatever.

Moreover, in item (b), the candidates who filled out the correct answer
understood the uses of adverbs of manner in showing how an action happens.
They also knew that some adverbs are followed by other adverbs as in this
item. The adverb vraiment was used followed by n importe comment to insist
the given action. Therefore, the correct word in this item was n’importe
comment.

Furthermore, the candidates who got item (c) right were aware that an
indefinite pronoun n’importe qui in the sentence was used to refer to any
person. Therefore, the correct answer, according to the context of the given
sentence, was n importe qui which means whoever.

In item (d), the candidates who filled in the correct answer understood the use
of an adverb of place n’importe ou. They knew that the verb irai (will go) is
commonly used with other words to indicate place. Thus, the correct response



in this item was n importe ou because it is an adverb of place which refers to
wherever.

Finally, in item (e) candidates who gave the correct answers understood the
uses of adverbs of time. The candidates were aware that the presence of the
verb passer requires the use of an adverb of time in the given sentence.
Therefore, the correct adverb of time in this item was n’importe quand
(whenever). Extract 1.1 shows a sample of candidates’ correct responses to
question 1.
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Extract 1.1: A sample of the Correct Responses to Question 1

Extract 1.2 shows responses from a candidate who filled in correct responses in
all five items. The candidates knew the uses of each adverb by focusing on the
given context of each sentence.

The analysis indicates that 46 (17.23%) candidates performed averagely by
scoring from 3.5 to 5.5 marks. These candidates had partial knowledge of
adverbs, pronouns and inadequate knowledge of grammatical rule. As a result,
they performed averagely. For example, some of these candidates only
managed to correctly answer 2 to 3 items out of five in the question.
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Further analysis indicates that 113 (42.32%) candidates had a weak
performance after scoring from 0 to 3.0 marks. They wrote incorrect answers as
they could not correctly use the adverbs and pronouns in the sentences. For
example, in item (a), some candidates wrote other pronouns and adverbs like
n’importe qui, n’importe comment. The responses suggest that the candidates
were unaware of the use of indefinite pronouns and adverbs.

Moreover, in item (b), candidates who filled in incorrect answers were not
knowledgeable on the use the adverbs of manner in sentences. Consequently,
they supplied irrelevant adverbs in the context of the sentence. In item (c),
candidates who responded incorrectly were not aware that the indefinite
pronoun n’importe qui is used to refer to every person. Therefore, the given
sentence required the pronoun n’importe qui to make it complete and
meaningful.

Furthermore, in item (d) and (e), the candidates filled in incorrect answers did
not know that adverbs of place are used to refer to a place where an action
takes place. On the contrary, adverbs of time indicate a moment in which
action occurs. Extract 1.2 shows a sample of candidates’ incorrect responses to
question 1.
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Extract 1.2: A Sample of Incorrect Responses to Question 1




2.2

Extract 1.2 shows responses from a candidate who supplied the incorrect
indefinite pronouns. The responses provided by the candidate indicate that
he/she was simply guessing the responses.

Question 2: Direct and Indirect Speech

Candidates were given a paragraph with four sentences in direct speech and
were required to transform the sentences into indirect speech. The question
tested candidates’ ability to report the messages events from one person to
another by using direct and indirect speech. The question was as follows:

2. Rapportez ce que ma meére m'a dif au t€lephone samedi dernier.
Samedi dernier, ma mére m'a téléphoné. Elle m'a raconté: "Hier jai rencontré dans un
magasin une amie que je n'avais pas vue depuis 30 ans. Elle m'a dit: "Je i invitée & déjeuner
et jiirai chez elle dimanche prochain pour faire connaissance de son mari!" Son amie lui dit
aussi: "Aujourdhui je vais voir mon quinzieme petit-fils! "Et ma mere lui a répondu
fierement: " 11 y a trois jours que je suis arriere-grand-mere!"

...................................................................................................................

The analysis indicates that a total of 267 (100%) candidates attempted the
question, out of whom, 59 (22.10%) candidates scored from 0.0 to 3.0 marks,
33 (12.36%) candidates scored from 3.5 to 5.5 marks and 175 (65.54%)
candidates scored from 6.0 to 10 marks. The general performance in the
question was good, since 168 (77.90%) candidates scored from 3.5 to 10
marks. Figure 2 is an illustration of the candidates’ performance on question 2.
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Figure 2: Candidates’ Performance on Question 2

The analysis shows that 175 (65.54%) candidates had a good performance after
scoring from 6.0 to 10 marks. The candidates appeared proficient in applying
grammatical rules in changing sentences from direct speech into indirect
speech.

In the first sentence, candidates who filled in the correct answer understood
that if the introductory verb a raconté is in the Past Tense, changes must take
place in verbs and adverbs when transforming direct speech into indirect
speech. In this case, the adverb hier, the simple past tense ai rencontré and the
past perfect tense avais vue are transformed into le veille, avait rencontré and
avait vue respectively. In this case, the Simple Past Tense is changed into the
Past Perfect Tense while the Past Perfect Tense remains intact. Further, the
subject pronoun je is changed into elle. Therefore, the correct sentence in
indirect speech is: Elle m’a raconté que le veille, elle avait rencontré dans un
magasin une amie qu’elle n’avait pas vue depuis 30 ans.

In the second sentence, candidates who got the answer right understood that
the verb a dit that introduced the sentence is in the Past Tense. Therefore, the
candidates changed the Past Tense ai invitée and the Simple Future Tense irai
into Past Perfect Tense avait invité and conditional (conditionnel présent) irait
respectively. Moreover, they added an e at the end of the verb ai invitée to
show the gender and number agreement with the personal pronoun /a
representing une amie. The candidates also changed the pronoun je into elle
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and the adverb prochain into suivant. Therefore, the correct indirect speech is:
Elle m’a dit qu’elle [’avait invitée a déjeuner et qu’elle irait chez elle
dimanche suivant pour faire connaissance de son mari.

In the third sentence, the introductory verb dit is in the simple present tense.
Therefore, the adverb aujourd’hui and the tense of the verb vais should remain
unchanged. The pronoun je and the possessive adjective mon have to be
changed into elle and son, respectively. Thus, the correct indirect speech is
Son amie lui dit aussi qu’elle va voir son quinziéme petit-fils.

In the fourth sentence of the given paragraph, candidates who provided the
correct answer changed the verbs a and suis from Simple Present Tense to
imperfect tense avait and était. This is because the verb in the main clause a
répondu is in the Past Tense. Moreover, the pronoun je has to be changed into
elle because the word /ui in the main clause is referring to son amie. Thus, the
correct indirect speech is: Ma mere lui a répondu fierement qu’il y avait trois
jours qu’elle était arriere-grand-mere. Extract 2.1 shows sample of
candidates’ correct responses to question 2.

UK (ﬁaﬂ»ﬂﬂomfenmq mire Mg e’réPLer\.Q’.-E”e
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Extract 2.1: A Sample of Correct Responses to Question 2

In Extract 2.1, the candidate correctly changed the pronouns into their correct
forms and the verbs into their correct tenses.

Moreover, the analysis shows that 33 (12.36%) candidates had an average
performance after scoring from 3.5 to 5.5 marks. Such candidates had an
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inadequate knowledge of the rules of transforming sentences from direct
speech into indirect speech. Their moderate knowledge made them change up
to only two sentences but failed to change the rest three sentences.

On the contrary, 59 (22.10%) candidates had weak performance. Their scores
ranged from 0 to 3.0 marks. Such candidates lacked knowledge of the topic of
Direct and Indirect Speech. Consequently, they failed to transform elements
from direct into indirect speech, hence scored low marks.

In the first sentence, some candidates changed the adverb hier in direct speech
to la veille in indirect speech. However, they could not change the pronoun je
and the past tense ai rencontré into elle and the Past Perfect Tense avait
rencontree, respectively. Others were not aware that the Past Perfect Tense
does not change its form in indirect speech. Thus, they changed the verb,
n’avait pas vue into incorrect tenses such as n’a pas vu, n’est pas vue and ne
pas vu.

In the second sentence, the introductory verb is in the past tense. Therefore,
with exception of the verbs expressed in the Past Perfect Tense and the
imperfect tense, all verbs in sentences should be changed. However, some
candidates changed the past tense ai invité into inappropriate tenses such as est
invite, ont invitees. Other candidates wrongly changed the verb irai into Future
Tense forms irais, vais, ailles. Such wrong responses indicate low competency
of the French Grammar.

In the third sentence, some candidates did not know that the introductory verb
dit was in the Present Tense and thus does not need any change in tenses and
adverbs. As a result, they incorrectly changed the adverb aujourd’hui to ce-
jour-la and the verb vais into other tenses such as the simple Past Tense, Past
Perfect Tense. Other candidates did not change the pronoun je and possessive
adjective mon into elle and son, respectively. Extract 2.2 shows a sample of
the candidates’ incorrect responses in question 2.
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Extract 2.2: A sample of Incorrect Responses to Question 2

In Extract 2.1, the candidate failed to change pronouns into their correct forms
in indirect speech and verbs into their correct forms in indirect speech.

Question 3: Locating Places

The question comprised of five (8) items. The candidates were required to
underline words that show direction. The question tested candidates’ ability to
identify and use expressions of direction such as a coté de (beside), loin du
(far from), a la (to the), a gauche (to left), derriere (behind), jusqu’au (until)

and tout droit (straight). The question was as follows:

()
(b)
(c)
(d)
(e)
63)
(g

(h)

3. Observez les phrases suivantes et identifiez en soulignant les mots pour donner la direction.
Exemple: Le marché c’est assez loin.

Le marcheé c’est assez loin.

Le Palais du président est 4 coté de I’ océan.

La mairie est loin du port.

Pour aller i la plage des enfants, il faut tourner 4 gauche.

T n’y a pas de stade derriere le collége.

L’hopital de mwananyamala est & cote du marche.

La grande Mosquée n’est pas trés loin de la gare.

Nous tournons a gauche pour aller chez grand-mére.

11 faut continuer jusqu’au prochain feu rouge, apres vous aller tout droit.

The data analysis indicates that 267 (100%) candidates attempted the question,
of whom, 110 (41.20%) candidates scored from 0.0 to 3.0 marks, 50 (18.73%)
candidates scored from 3.5 to 5.5 marks and 106 (40.07%) candidates scored
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from 6.0 to 10 marks. The general performance in the question was average,
since 156 (58.80%) candidates scored from 3.5 to 10 marks allocated to the
question. Figure 3 is an illustration of candidates’ performance onn question 3.

Scores
mo-3

03.5-55

mo6-10

18.73%

Figure 3: Candidates’ Performance on Question 3

The analysis shows that 106 (40.07%) candidates had good performance in
this question. The candidates identified and underlined words showing
direction. In item (a), the candidates underlined the expression a coté de,
denoting that they had knowledge and ability to use words which show
direction.

In item (b), the candidates identified and correctly underlined the expression
loin du (far from) to indicate direction. The candidates realised the presence of
the noun port which must be followed by an expression showing direction
hence they correctly underlined the word loin du.

In item (c), the candidates identified correctly two expressions indicating
directions a la and a gauche. They realised that the presence of the noun plage
and the verb tourner required the expressions a la and a gauche to show
direction.

In item (d), the candidates correctly identified the direction word derriere.
They knew that noun college must be preceded by a word showing its
direction. Such response shows that the candidates were knowledgeable on
expressions showing directions.

11



In item (e), the candidates realised that the expression a coté du showing
direction was the same as in item (a). They used the same knowledge to
identify the correct expression and underline it.

In item (f), the direction word loin de (far from) was the same as in item (b).
This helped the candidates to identify and underline the correct word which
show direction. That is, they applied the previous knowledge in this sentence.

In item (g), the word showing direction a gauche was the same as in item (c).
This made the candidates to use the previous knowledge in (c) to identify the
correct word expressing direction in the sentence.

Lastly, in item (h) there were two words showing directions: jusqu ‘un (until)
and fout droit (straight). The candidates identified and correctly underlined the
expressions due to the presence of the word prochaine feu rouge (next traffic
light) in the first position and due to the presence of the verb aller (to go) in
the second position which requires a word to accomplish its meaning. Extract
3.1 shows a sample of candidates’ correct responses to question 3.
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Extract 3.1: A Sample of Correct Responses to Question 3

In Extract 3.1, the candidate identified and underlined words indicating
direction correctly in all the given items.
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Further analysis shows that 50 (18.73%) candidates had an average
performance after scoring from 3.5 to 5.5 marks. The candidates had a
moderate understanding of words locating places. Most of them could
correctly identify some of the direction words but failed to do so for other
words.

On the other hand, the analysis shows that 110 (41.20%) candidates had a
weak performance after scoring from 0.0 to 3.5 marks. Such candidates could
not identify at least 3 direction words. Moreover, they did not underline the
appropriate direction words. For example, (d) I/ n’y a pas de stade derriere le
colléege and (f) la grande mosquée n’est pas tres loin de la gare. Moreover,
some candidates underlined both direction words and other words such as : (b)
La mairie est loin du port (d) Il n’y a pas de stade derriere le collége. This
shows that the candidates had limited knowledge about words showing
direction. Extract 3.2 shows a sample of the candidates’ incorrect responses to

question 3.
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Extract 3.2: A Sample of Incorrect Responses to Question 3

Extract 3.2 shows responses from a candidate who underlined direction words
together with words which do not indicate direction.
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Question 4: Translation

In question 4, candidates were given a passage about African families. They
were required to translate into English language. The question tested
candidates’ ability to translate passage from the French language into English
language. The question was as follows:

4, Traduisez le texte suivant en anglais.

Le grand réve des foyers africains a toujours été d'avoir des enfants. Quelle que soit la
situation des époux, quel que soit leur rang social, tous veulent avoir une famille nombreuse.
Méme dans quelques-uns de nos pays, la fierté d'avoir plusieurs femmes a de pouvoir &
montrer une multitude de beaux enfants de tous Ages. Si l'on se rappelle que dans certains
pays civilisés la mode consiste de plus en plus a fonder des foyers sans enfants, 'on ne peut
qu'adresser des compliments a 1'Afticain qui est demeuré fidele au grand enseignement:
"Croissez et multipliez".

The analysis indicates that 267 (100%) candidates attempted the question, of
whom, 196 (73.41%) candidates scored from 0.0 to 3.0 marks, 48 (18.35%)
candidates scored from 3.5 to 5.5 marks and 23 (8.24%) candidates scored
from 6.0 to 10 marks. The general performance in the question was weak,
since 71 (26.59%) candidates scored from 3.5 to 10 out of 10 allocated marks.
Figure 4 is an illustration of the candidates’ performance on question 4.

100 +
L 90 +
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5 70 +
5 60 +
T 50 +
S 40 +
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10 4
0 , , [
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Figure 4: Candidates’ Performance in Question 4
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The analysis of the candidates’ responses indicates that 23 (8.24%) candidates
scored from 6.0 to 10 marks which is a good performance. Such candidates
observed the rules of translation such as maintaining the message of the source
language by using structure of the target language. They correctly translated
the passage from the French Language into the English Language. This
implies that they had skills and knowledge of the source language (French)
and the target language (English). However, their work had a few grammatical
errors. Extract 4.1 shows a sample of the candidates’ correct responses to
question 4.

oL The \bfg dreamn op Atrican people has alwaus besn
o hove chldvon: Despite baing +he <tugtion ot
o\@,cgyth bawng their coutal wange ,Hwﬂ all _wont 4o
lhove o big +am11¢4o'_111 came Yo como ;\mop\n o
our wurﬂ::ru “'HSQ, +vart Yo hove cevera) wiveg con

ow the multiTude oL bf&wh‘r\_}—' children oy all
Q9oL \+ we talke thot b a carfein civiliced mode
c0un’Tvm congret oL mave and more people
ww%oui' d‘n\o\w—(m Lwe_ can. not oddren —ng
iwr‘r\zo\xmo,n’fc of an _Atacan whe 1% taithpl
O—“Ol by lQarnJrqul/ leavanodtul.

" Beltove and mu?“‘\?b“

Extract 4.1: A Sample of Correct Responses to Question 4

Extract 4.1 shows a response from a candidate who translated the given
passage from the French Language into the English language. The translation
however had a few errors.

However, 48 (18.35%) candidates had an average performance after scoring
from 3.5 to 5.5 marks. Such candidates had partial knowledge and skills in
translation. They were able to translate some sentences or some parts of
sentences in the passage but failed to do so for other sentences.

Further analysis indicates that 196 (73.41%) candidates scored from 0 to 3.0
marks which is weak performance. Such candidates had insufficient
knowledge and skills in translation. They made a lot of errors in translating the
passage such that the intended meaning was lost in the source language. Other
candidates lacked knowledge of French vocabulary. Hence, they wrote
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2.5

incomprehensible sentences in English. For example: We cannot explain the
complication of Africa to be honest or lessons and to believe. Another
candidate translated the last sentence wrongly as: If the rapping in certain
country civilised the mode which consists of more founder without children it
doesn’t need to address the compliments of Africa which is big fidelity. Extract
4.2 shows a sample of candidates’ incorrect responses to question 4.

Ol TroduiSe \e tecke Suivankt en anglais
P[H C\YFCLJ; D[TCC{H"’ EUY o an Eﬂwu
/‘”HCQ CﬂLvéLLiS LWCL(\ been Yo chil {IY‘EJOS

in 1he &ih,a%ﬁ’,‘gﬂ o} being wife cung
hul&l)CH?CJ, all  wan) to \’HCL\JL 8 QYCL;WQ)
Irﬁ-“’»mflfé e  samme Sorepnel  in Dl
Cobnbry, Broy  L¥e Yo \’u:wrf. ﬂ%mu
LIVES {UH@ C(‘m by n tia%) qood CLL e
for al oqe- 1p e afvee Bl (n 0
Cevteun P&JM Cmm{ft{ Tn bhe wiv)d Conts i}
ARYINR cmoj 'r”nc;re happ\f wibheout  chi cPrvm
we  (ow npt 22yl Fua’\ }WQ £Don3hauhm U,L
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Extract 4.2: A Sample of Incorrect Responses to Question 4

In Extract 4.2, the candidate wrongly translated the given passage by writing
sentences whose meanings are different from the original sentences.

Question 5: Active and Passive Voices

In this question, candidates were given five (5) sentences in active voice and
were required to transform them into passive voice. The question tested
candidates’ ability to demonstrate the correct use of the form of the verb when
the object performs the role of the subject. When forming the passive voice,
the subject of active voice is changed to object except for pronouns dropped
when followed by the preposition par or de (by or of, respectively). In
addition, direct object is changed to subject in passive voice. The question was
as follows:
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5. Transformez les phrases suivantes a la voix passive.
(a) Tout le monde aimait cette mignonne fille.
(b) Les habitants de notre village ont bien accueilli le président.
(¢} 1l va rénover cette grande maison pendant ce week-end.
(d) Demain, le gardien n’ouvrira pas le musée.
(¢) Le directeur de notre école devra présenter son projet & bientdt.

The question was attempted by 267 (100%) candidates, of whom, 08 (3.00%)
candidates scored from 0.0 to 3.0 marks, 39 (14.61%) candidates scored from
3.5 to 5.5 marks and 220 (82.39%) candidates scored from 6.0 to 10 marks.
The general performance in the question was good, since 259 (97.00%)
candidates scored from 3.5 to 10 marks out of 10 marks allocated to the
question. Figure 5 is an illustration of the performance in question 5.
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Figure 5: Candidates’ Performance on Question 5

The analysis indicates that 220 (82.39%) candidates had a good performance
after scoring from 6.0 to 10 marks. Such candidates were competent in the use
of grammatical rules on transforming passive voice sentences. They wrote the
verbs into their correct forms.

In item (a), the candidates understood that the main verb aimait is in imperfect
tense in active voice. Therefore, the auxiliary verb “to be” (€tre) is supposed
to be in imperfect tense followed by past participle tense of the main verb
aimait. When necessary, the main verb should consider agreement in gender
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and number of subjects. In that case, the candidates in this category responded
to this item by writing: Cette mignonne fille était aimée par tout le monde.

In item (b), the candidates knew that the main verb is in the Present Perfect
Tense in active voice, therefore, the verb to be (étre) should be in the Present
Perfect tense in passive voice. However, the main verb accueilli should remain
as it in active voice. The candidates correctly wrote : Le président a été bien
accueilli par les habitants de notre village.

In item (c), the candidates realised that the sentence in active voice and it is in
near future hence, its verb to be (étre) is supposed to be in infinitive form.
However, the main verb renover is supposed to be in the past participle form.
It is also recommended in the French Language that all pronouns should be
dropped while changing active voice sentences into passive voice. For that
reason, the subject in passive voice should not appear in item (c). The
candidate correctly changed the sentence by writing:

Cette grande maison va étre renovée pendant ce week-end. Ou Pendant ce
week-end, cette grande maison va étre renovée.

In item (d), the candidates were aware that the main verb ouvrira was in the
simple future in active voice. Therefore, the verb to be éfre has to be in the
simple future tense sera where the main verb is transformed into the Present
Perfect Tense ouvert. Moreover, the adverb demain may change its position to
either at the beginning or at the end of the sentence. The candidate who got the
item right wrote: le musée ne sera pas ouvert par le gardien demain/ Demain,
le musée ne sera pas ouvert par le gardien.

In item (e), the candidates realised that the model auxiliary verb devra was in
the Simple Future Tense in active voice. In passive voice, the auxiliary verb to
be (étre) should be changed into infinitive form. The main verb présenter has
to be changed into past participle but model auxiliary verb devra should
remain as it was in active voice. The candidates used the knowledge and
wrote: son/le/leur projet a bientot devra étre présenté par le directeur de notre
ecole. Ou, son/le/leur projet devra étre présenté a bientot par le directeur de
notre école. Extract 5.1 shows a sample of the candidates’ correct responses to
question 5.

18



51a elte mgnono {l‘lla dait_almde_par_feud & mondl

g&m ordsidont o ¢F bion aquarll par fpr habitonds
denotie village -

OPndat & wedeond celfe gnde masion vo_dtre
(dnovde o

|

0 Donain, T musée Gr e cen pac ouved por s
0 ton

X Foofal, Con_ppel fovia ik {nmﬁ por
dindeur do nofte” deele- _

Extract 5.1: A Sample of Correct Responses to Question 5

In Extract 5.1, the candidate correctly changed the sentences from active voice
to passive voice. His/her responses indicate that he/she mastered grammatical
rules on changing sentences to passive voice.

Further analysis indicates that 08 (3.00%) candidates scored from 0 to 3.0
marks, which is weak performance. Such candidates did not know the rules
used to change sentences from active voice into passive voice.

In item (a), some of the candidates could not change the verb aimer into past
participle aimée. Rather, they changed it into Past Continuous Tense
(imperfect) as aimait, which indicates that they lacked knowledge of the rules
for changing verbs in passive voice.

In item (b), some of the candidates failed to change the important elements in
the sentences. Those candidates wrote sentences such as : De notre village
sont les habitants bien accueille le president. The sentence was incorrect
because key words were not correctly changed.

In item (c), some of the candidates wrongly dropped some words. Some of
them wrote : Pendant ce week-end il va étre rénover cette grande maison,
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which is incorrect because they mistakenly wrote the verb rénover instead of
rénovée.

In item (d), the candidates were given a sentence Demain le gardien n’ouvrira
par les musées. Some candidates with low marks in the question transformed
the verbs as: Le musée n’étre pas ouvert demain par le gardien, which is
incorrect considering that some words were incorrectly transformed and some
words are missing in their transformation.

Lastly, in item (e), some of the candidates did not observe the required
structure of the sentence in passive voice. As a result, they omitted some
words supposed to be part of the sentence. Some of the candidates wrote: De
notre école le directeur devra son projet a bientot présenté. Such a wrong
response indicates that the candidates had inadequate knowledge of the
structure of active voice and passive voice. Extract 5.2 shows a sample of the
candidates’ incorrect responses in question 5.
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Extract 5.2: A Sample of Incorrect Responses to Question 5

In Extract 5.2, the candidates wrote incorrect sentences in passive voice in all
items of the question.
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2.6

Question 6: Talking about Different Experiences

In this question, the candidates were given ten (10) items with infinitive verbs
in the brackets and were required to transform them into correct mode and
tense. The question tested candidates’ ability to express themselves in various
situations. The question was as follows:

6. Mettez les verbes entre parenthéses i la forme correcte.

(a) Brigitte, ta sceur de Mbezi Beach Alie est contente que tu (8tre) 12.

(b) Mon ami, je n’espére pas que ma grande mére d’Iringa (aller) bien.

(¢) Siles étudiants viennent a I'heure, ils (ne pas manquer) le train pour Morogoro.

{(d) Ma cousine Juliet était encore a I’école quand sa mére (mourir) au mois de février.

(e) Les robes que ma mére {m’acheter) avant-hier sont trés longues pour moi.

(f) L’un des professeurs dans notre écolé (monter) sa valise au troisiéme étage hier soir.

(g) Paul dit a son oncle: «Vous fumez tant qu’un jour vous (avoir) des problémes de santé.»

(h) La circulation 4 Dar-es-Salaam est parfois tellement difficile qu’il (valoir) mieux prendre
la moto.

(i) Angélique était gravement malade, si bien que sa mére (appeler) le médecin chez elle pour
la voir. :

(j)) Nos voisins écoutent de la musique de ‘bongo fleva’ si tard qu’ils nous (empécher) de
dormir.

The question was attempted by 267 (100%) candidates, out of whom, 154
(57.68%) candidates scored from 0.0 to 3.0 marks, 83 (31.46%) candidates
scored from 3.5 to 5.5 marks and 30 (10.86%) scored from 6.0 to 10 marks.
Generally, the performance in the question was average, since 113 (42.32%)
candidates scored from 3.5 to 10 marks, out of 10 marks allocated to the
question. Figure 6 is an illustration of the candidates’ performance on question
6.

Scores

m0-3

03.5-55

m6-10

31.46%

Figure 6: The Candidates’ Performance in Question 6
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The analysis indicates that 30 (10.86 %) candidates had a good performance
after scoring from 3.5 to 10 marks. Such candidates had the high mastery of
verb structures in different tenses. Such candidates could write the verbs into
their correct forms and so, they performed well.

In item (a), the candidates knew that the verb éfre had to be transformed into
subjunctive mood because there is the expression est content que which
necessitates the use of subjunctive mood. Therefore, the correct structure of
the given verb is sois.

In item (b), the candidates realised that the infinitive verb aller had to be
changed into subjunctive mood because there is a negative verb n’espére pas
que in the sentence. Thus, the correct answer for the item is aille.

In item (c), the candidates who scored high marks correctly changed the verb
ne pas manquer into conditional tense. This is because the subject of the
sentence shows condition in independent clause, indicating hypothetical
situations. The general rule in this context is si + present tense + conditional
tense. Therefore, the correct answer to this item is ne manqueront pas.

Furthermore, in item (d), the candidates recognised that the verb mourir is
supposed to be changed into the Simple Past Tense because it shows the
relationship between two different past actions: the imperfect and the Past
Tense. In this case, the correct answer was est morte.

In item (e), the candidates realised that the sentence is in the past form by
considering the adverb of time avant. For this reason, they changed the verb
acheter into the simple past tense. Therefore, the correct answer is a achetées.
The past participle achetées shows gender and number agreement. The general
rule is that when a relative pronoun que is followed by a noun that has a verb
in the past form. Then the noun /les robes used before a relative pronoun que
must agree in gender and number with the verb in the past form.

Moreover, in item (f), the candidates realised that the adverb of time hier soir
was used to show that the action had already completed. Therefore, they
changed the infinitive verb monter into the Simple Past Tense. The correct
answer in this item was a monté. The candidates also realised that the verb
monter was followed by the object sa valise as a result the verb monter is to be
followed by the auxiliary verb avoir.
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Likewise, in item (g) the candidates knew how to change the verb avoir into
the simple future tense which was auras. According to the context of the
sentence, the verb fumez which was in the simple present tense indicates effect
of that action that might happen in the future. In item (h) the verb valoir was
correctly changed into simple present tense because it showed habitual present
of the situation. Thus, the correct answer was vaut.

In item (i), the candidates knew how to establish the relationship between the
verb était in the imperfect tense and another verb into the simple Past Tense a
appelé. Finally, in item (j), the candidates correctly transformed the infinitive
verb into the Simple Present Tense empéchent. According to the context of the
sentence, the verb indicates the habitual present action. Extract 6.1 shows a
sample of the candidates’ correct responses in question 6.
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Extract 6.1: A sample of the candidates’ correct responses in question 6

In extract 6.1 the candidate correctly changed the verbs into their correct
modes.

Further analysis indicates that 154 (57.68%) candidates scored from 0 to 3.0
marks, which is weak performance. Such candidates failed to correctly
conjugate most of the provided verbs. For example, in item (a), the candidates
wrongly transformed the verb érfre. Instead of conjugating it into subjective
mode sois, they conjugated it into tenses such as est, ai and ayez. In the item
(b), the verb aller had to be conjugated into subjunctive mood due to the
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presence of the expression n’espere pas que. Nonetheless, most candidates
who scored low marks in this item changed the verb into the present tense.

Moreover, in item (c), the candidates did not understand the use of the simple
future tense in relation to the simple present tense. The rule suggests that when
the first sentence is in the present tense, the second sentence must be in the
simple future tense. Due to the low mastery of the rule, the candidates wrote
incorrect responseses such as: manqura, ont manqué and manquent.

In item (d), some candidates failed to conjugate the verb mourir from
infinitive into the past tense. They failed to link the relationship between the
past continuous tense était in the first part of the sentence with the second part
which is supposed to be in the simple past tense est mort.

Further analysis indicates that in item (e) and (f) some candidates could not
detect elements of the past tense used in the two sentences. For example, in
item (e) and (f), the adverb avant-hier and hier soir are used as indicators of
the past tense. As a result, they wrote incorrect responses such as a acheté,
achetera, acheteront, monterai, monte and est monti.

In item (g), some candidates did not know that the first part of the sentence
was in the simple present tense, therefore, the second part of the sentence was
supposed to be in the simple future tense. This being the case, such candidates
wrote incorrect responses such as: vous ayez, vous avez, vous iriez and vous
avez eu.

In addition, many candidates did understand the contexts of tenses in which
the verbs in items (h), (i) and (j) were used. Some incorrect responses
provided by such candidates are as follows: (h) il veut, il valoit, il voile, il
vaux, (1) sa mere est appelé, sa mere appelle, sa mere appelera, sa mere avait
appelée and (j) ils nous avons empechee, ils nous empecheront, ils nous
empechis. Extract 6.2 shows a sample of the candidates’ incorrect responses to
question 6.
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Extract 6.2: A Sample of Incorrect Responses to Question 6

In extract 6.2 the candidate wrote incorrect verb forms. His/her responses
show that he/she guessed responses. This indicates that the candidate had little
knowledge of verb forms in different tenses.

Question 7: Imperative Mood

The candidates were given five (5) items in this question and were required to
transform affirmative imperatives into negative imperatives. The question
tested candidates’ ability to express themselves by agreeing or disagreeing to a
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command. During the process of transforming imperatives, the reflective
pronouns change their positions and some of change forms. For example, moi
changes to me/m’, toi changes to te/t’, soi changes to se/s’). The question was
as follows:

7." Transformez les phrases suivantes comme dans ’exemple.
Exemple: Présente-toi en retard.
Ne te présente pas en retard.

(a) Inquiéte-toi pour ton examen prochain.
(b) Préparez-vous bien pour cet examen.

(¢) Occupez-vous des dossiers d’inscription.
(d) Munis-toi des photographies.

(e) Préoccupez-vous des frais de scolarité.

The question was attempted by 267 (100%) candidates, out of whom, 14
(5.24%) candidates scored from 0.0 to 3.0 marks, 48 (17.98%) candidates
scored from 3.5 to 5.5 marks and 205 (76.78%) candidates scored from 6.0 to
10 marks. The general performance in the question was good, since 253
(94.76 %) candidates scored from 3.5 to 10 marks. Figure 7 is an illustration
of the candidates’ performance on question 7.
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Figure 7: Candidates’ Performance on Question 7

Figure 7 shows that a total of 205 (76.78%) candidates had a good
performance in the question The candidates had knowledge of imperatives

and negative forms and how they are used to express commands and requests.
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In item (a), the reflective pronoun toi has to be changed into #’ since the verb
commences with a vowel, hence, it has to be placed before the verb inquiete
in negative form as in Ne t’inquiete pas pour ton examen prochain.

In item (b), the candidates changed the position of the reflective pronouns
vous and placed a negative form in its proper position as in Ne vous préparez
pas bien pour cet examen. Likewise, in item (c) the candidates correctly
changed the position of the reflective pronoun vous and the form of indefinite
artricle des into de to match the negative form as in Ne vous occupez pas de
dossiers d’inscription.

In item (d), the candidates changed the reflective pronoun foi correctly into te
and indefinite artricle des into de. The changes concurred with the negative
form as in Ne te munis pas de photographies.

In item (e), the candidates correctly changed the reflective pronoun vous and
the indefinite article des into de to match with negative form as in Ne vous
préoccupez pas de frais de scolarité. Such candidates knew how articles
change when they appear in a negative sentence. Extract 7.1 shows a sample
of the candidates’ correct responses to question 7.
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Extract 7.1: A Sample of Correct Responses in Question 7
In Extract 7.1, the candidate correctly negated the sentence indicating

showing that the candidate was competent in the use of different forms of
sentences expressing positive and negative information.
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The analysis shows that 48 (17.98%) candidates had an average performance
as they scored from 3.5 to 5.5 marks. Such candidates only placed a section
of negative words into their proper positions, not all. Thus, they demonstrated
moderate knowledge of changing words into imperative mood and thus,
performed averagely in this question.

Moreover, analysis shows that 14 (5.24%) candidates had a weak
performance after scoring from 0 to 3.0 marks. Such candidates had little
knowledge of forms of sentences in expressing different information. Their
lower level of knowledge made them fail to change many affirmative
sentences into negative imperative mood.

In item (a), some candidates could not change the pronoun toi into te. In such
instance, they wrote sentences such as Ne inquiete-toi pas pour ton examen
prochain. This is incorrect because the pronoun foi has not been transformed
into ze, and is also misplaced.

In item (b), the candidates wrote incorrect responses such as Ne nous
préparons pas bien pour cet examen. This is incorrect because the pronoun
nous and the verb préparons do not fit in the given context. The candidates
who wrote such responses did not understand that the pronoun vous is
supposed to be placed before the verb préparer and the verb préparer is
supposed to written as préparez.

In item (c), the candidates failed to correctly position the pronoun vous and
negation words. Moreover, some of them incorrectly used the pronoun nous
and did not change the article des into de in the negative sentence. This made
to write the incorrect answer in this item as Nous n’ occupons pas des
dossiers d’inscription. Moreover, in item (d), the candidates could not
transform the pronoun toi into fe. Moreover, the pronoun te was misplaced in
the sentence leading to a wrong answer, Ne munis pas toi des photographies.

In item (e), the candidates failed to place the pronoun vous in its correct
position. Some of them wrote the reflective pronouns vous and the personal
pronoun vous consecutively as in Ne vous vous preoccupez pas des frais de
scolarité. Extract 7.2 shows a sample of the candidates’ incorrect responses
in question 7.
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Extract 7.2: A Sample of Candidates’ Incorrect Responses to Question 7

Extract 7.2 shows responses from a candidate who wrote incorrect pronouns,
verb forms and negations.

Question 8: Phonology

The question comprised of six (06) items and the candidates were required to
attempt all of them. The items consisted of underlined words which the
candidates were supposed to translate them phonetically. The question was as
follows:

8. Transcrivez les mots soulignez comme dans I’exemple.
Exemple: Ne roule pas (vite).
Ne roule pas [vit].

(a) En avril en (France), il fait frais.

(b) IIs vivent (loin) de leurs (parents).

(c) Pendant la saison de pluie (toutes) les routes (sont) dangereuses.

(d) Sa(famille) est trés grande.

(e) Pendant la (féte) de (noél), les enfants portent les nouveaux vétements.
(f) Elle n’a jamais pensé a (changer) sa couleur de (peau).

A total of 267 (100%) candidates attempted the question, of whom 96
(35.96%) candidates scored from 0.0 to 3.0 marks, 90 (34.08%) candidates
scored from 3.5 to 5.5 marks and 81 (29.96%) scored from 6.0 to 10 marks.
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The overall performance in the question was average, since 171 (64.04%)
candidates scored from 3.5 to 10 marks allocated to the question. Figure 8 is
an illustration of the candidates’ performance in question 8.

Scores
mo-3

m3.5-55

mo6-10

34.08%

Figure 8: Candidates’ Performance on Question 2

The analysis shows that 81 (29.96%) candidates scored from 6.0 to 10 marks
which is good performance. Such candidates correctly transcribed the words
provided. Such candidates had skills in the phonetic transcription. For
example, item (a) the word France was correctly transcribed as [fRas] but
another correct transcription for this word is [f K ds]. In item (b), there were
two words which were required to be transcribed. The words were loin and
parents. They transcribed the word /oin and parent as [Iw€] and [paRa] or [pa
a] 1g pectively.

Moreover, in item (c), the candidates correctly transcribed the words toutes

and sont as [tut] and [SD] respectively. The candidates knew that the last
letter s in the word toutes is always not pronounced. Moreover, the analysis
shows that the candidates differentiated sounds [o] which is not a nasal sound
from nasal sound [ 2]. As a result, they correctly transcribed the word sont .

In item (d) and (e), the candidates correctly transcribed all words from the

two sentences: the word famille into [famij], the word féte into [fet] and the
word noél into [n €2
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Finally, in item (f), the candidates differentiated the sound [a] from a nasal
sound [&]. Therefore, they correctly transcribed the words [ [ & 3e ] changer
and [po] peau, respectively. The analysis shows that the candidates mastered
the topic of phonology well. Extract 8.1 shows a sample from the candidates’
correct responses.
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Extract 8.1: A Sample of Correct Responses to Question 8

In Extract 8.1, the candidate correctly transcribed the words given in the
items. The candidates’ responses indicate that he/she had skills in phonetic
transcription.

Contrarily 90 (34.08%) candidates had an average performance after scoring
from 3.5 to 5.5 marks. These candidates only transcribed a few items
correctly. Most of them failed to transcribe a proper nasal vowel {@} or
proper {¥} of the word (France) in item (a). They wrongly transcribed the
word as {fRas}instead of [fRds] where R and @ are transcribed wrongly. Such
wrong transcriptions of some words shows that they had partial knowledge of
phonology in the French language.

Conversely, 96 (35.96%) candidates had weak performance after scoring
from 0 to 3.0 marks. Such candidates did not have skills and knowledge of
the phonetic transcription in French language. This being the case, these
candidates transcribed words without considering the basic rules. For
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2.9

example, in item (a), some of the candidates wrongly transcribed the word
France as [frdk], [frans] and [franse]. Other words which were wrongly
transcribed were parent was wrongly transcribed as [paRent], toute was
transcribed as [tute], famille as [family], fete as [faete], noél as [noEl],
changer as [sjanje] and the word peau was transcribed as [peu]. Extract 8.2
shows a sample of the candidates’ correct responses to question 8.
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Extract 8.2: A Sample of Incorrect Responses to Question 8.

In Extract 8.2, the candidate wrongly transcribed the words given. His/her
responses indicate that she/he had low skills and limited knowledge of
phonetic transcription.

Question 9: Translation

The candidates were given a passage about love among people and were
required to translate it from the French Language into Swahili language. The
question tested the candidates’ ability to communicate the meaning of a
source language text by means of an equivalent target language text. The
question was as follows:

9. Traduisez le texte suivant en Swahill,

COURRIER DE LECTEURS

"J'ai épousé un prisonnier’

Quand j'allais parler & des détenys, javais le sentiment d'étre utile 2 quelqu'un. Cest comme
ca que j'ai rencontré Paul, un garcon un peu perdu. Nous avons beaucoup parlé de sa vie et de
son passé. Moi-méme, je me suis beaucoup confiée a lui. Nos conversations nous ont
rapprochés. Ma présence lui était utile. Un jour, jai découvert des qualités chez Iui. Nous
sommes tombés amoureux. Amour difficile! Pourtant, nous avons décidé de nous marier.
Notre union a ét¢ célébrée en prison et nous sommes trés heureux.
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The data analysis indicates that 267 (100%) candidates attempted the
question, of whom, 139 (52.43%) candidates scored from 0.0 to 3.0 marks,
116 (43.45%) scored from 3.5 to 5.5 marks and 12 (4.12%) scored from 6.0
to 10 marks. The general performance in the question was average, since 128
(47.57%) candidates scored from 3.5 to 10 out of 10 marks allocated to the
question. Figure 9 is an illustration of the candidates’ performance on
question 9.
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Figure 9: Candidates’ Performance on Question 9

The candidates’ response analysis indicates that 12 (4.12%) candidates
scored from 6.0 to 10 marks, which is good performance. These candidates
correctly translated the passage from French language into Swahili language.
This implies that they had both comprehension and translation skills in
French and Swabhili language. They knew the rule of maintaining the message
of the source language by using structure of the target language. Extract 9.1 is
a sample of the candidates’ correct responses in question 9.
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Extract 9.1: A Sample of the Correct Responses to Question 9

In Extract 9.1, the candidates correctly translated the given passage from the
French language to The Swahili language. His/her response indicates that
he/she had ability to use the translation techniques.

Moreover, 116 (43.45%) candidates had an average performance after scoring
from 3.5 to 5.5 marks. Such candidates had partial knowledge and skills in
translation. They managed to translate some sentences or some parts of
sentences in the passage but failed to do so in other sentences. This is because
they had moderate skills in translation.

Furthermore, 52.40 (54.83%) candidates had a weak performance after
scoring from 0 to 3.0 marks. Such candidates lacked knowledge and skills in
translation. They translated the passage with a lot of errors which lost the
meaning in the original text. Other candidates lacked understanding of French
vocabularies and thus incomprehensible sentences. Extract 9.2 is a sample of
the candidates’ incorrect responses in question 9.
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Extract 9.2: A sample of the Incorrect Responses to Question 9

In Extract 9.2, the candidate translated the given passage wrongly by adding
words which were not conveying the message in the original text; hence
he/she distorted the intended meaning.

Question 10: Comprehension and Phonology

In this question, candidates were given a passage to read and answer
questions that followed by using the information from the passage. The first
item (a) required candidates to propose a convenient title that relates to the
text. The second item (b) required them to identify natural catastrophes from
the text given. The third item (c) required candidates to find only four words
with the falling tone (accent grave) from the text. The question was as
follows:
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10. Lisez le texte suivant et répondez & toutes les questions.

I'actualité a inspiré notre dossier mensuel consacré aux catastrophes naturelles. En effet, leur
étude appartient 2 la géologie,  la climatologie, 4 la vulcanologie, 2 l'océanographie; bref &
l'ensemble des sciences de la nature. Mais elle releve également de I'histoire dans la mesure
otl les tremblements de terre, les éruptions volcaniques, les tsunamis et les inondations sont
aussi des catastrophes humaines.

La connaissance méme du sinistre est proportionnée au nombre et & la qualit¢ des personnes
qui en sont les victimes ou témoins. L'information, le reportage aujourd'hui et la médiatisation
créent & leur manidre l'événement qui, localisé dans un désert, n'aurait pas eu droit a
l'existence. Demeure aujourd'hui une inégalité de l'information selon telle ou telle catastrophe,
pour des raisons qui n'ont rien de naturel: la responsabilité des individus.

L'humanisation de ces catastrophes dit naturelles et aussi de remises en cause soit d'une
autorité gouvernementale dont l'impéritie a été manifestée, soit comme se fut le cas aprés le
tremblement de terre de Lisbonne en 1753, d'un systéme de pensée ou de croyance.

La casualité divine ou diabolique a laissé place raisonnement scientifique mais la pensée
magique n'a pas complétement disparu, y compris en occident. Il y a plus inquiétant: la perte
de mémoire, mére toutes les imprudences et une certaine inaptitude contemporaine 2
J'affrontement aux évidences de la nature.

Quiest-ce qu'une catastrophe naturelle? Clest un événement naturel qui se produit sur un
territoire en situation de vulnérabilité. A partir de 13, I'on peut se demander si un événement
naturel qui n’a aucune conséquence sur les hommes serait une catastrophe. La réponse est
non, un tsunami dans une zone peu peuplée n'est pas une catastrophe. C'est la présence de
I'homme qui fait de I'événement naturel. Un événement catastrophique.

L'histoire, Décembre 2005.
Questions

(a) Donnez un titre convenable au texte.

{b) D’aprés le texte quels sont les catastrophes naturelles? Donnez les quatre.

(c) D'aprés le texte, trouvez quatre mots avec les accents graves.

The question was attempted by 267 (100%) candidates, out of which, 235
(88.10%) candidates scored from 6.0 to 10 marks, 19 (7.49%) scored from
3.5 to 5.5 marks and 13 (4.49%) scored from 0 to 3.0 marks. The general
performance in the question was good, since 248 (95.59%) candidates scored
from 3.5 to 10 marks. Figure 10 summarises the candidates’ performance in
question 10.
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Figure 10: Candidates’ Performance in Question 10

The analysis shows that 235 (88.10%) candidates scored from 6.0 to 10
marks, which is a good performance. Such candidates comprehended the
passage and answered its related questions correctly. For instance, in item (a),
candidates were required to propose the convenient title of the passage, for
which the candidates proposed titles such as: LES CATASTROPHES/LES
CATASTROPHES NATURELLES

In item (b), candidates were required to identify the natural catastrophes from
the text given. The candidates who scored full marks in this item, understood
the given passage. One of them, for instance wrote: les tremblements de terre,
les éruptions volcaniques. Les tsunamis et les inondations This indicates that
they comprehended the passage.

Moreover, in item (c), candidates were required to list four (4) words with the
falling tone {accent grave (") }. Those who scored differentiated the accent
grave (falling tone) from accent aigu (raising tone). Therefore, they listed the
correct words such as; a la, maniere, de la, reléve, mere, completement apres
and systeme. Extract 10.1 is a sample of the candidates’ correct responses in
this question.
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Extract 10.1: A Sample of the Correct Responses to Question 10

In Extract 10.1 the candidate responded to correctly to the questions in all
This is a sign that the candidate was well equipped with

items.

comprehension skills.

There were 19 (7.49%) candidates who had an average performance after
from 0 to 3.0 marks. Such candidates correctly answered some of
items but failed to answer other items. For example, some of them wrote the
title of the passage correctly in item (a) but failed to list down types of natural
catastrophes in item (b). This shows that they had partial comprehension

scoring

skills.
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However, 13 (4.49%) candidates scored from O to 3.0 marks, which is a
weak performance. Such candidates did not understand the passage and they
lacked skills in reading for comprehension.

For example, in item (a) some of the candidates copied the words from the
passage and wrote them as they are as answers to the question. In item (b),
candidates were asked to list the types of natural catastrophes. Surprisingly,
some candidates wrote none of such catastrophes. They wrote wrong
answers as: leur études appartient a la geologie, a la climatogie and a la
vulcanologie. Extract 10.2 is a sample of the candidates’ incorrect responses
in question 10.
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Extract 10.2: A Sample of the Incorrect Responses to Question 10

In Extract 10.2, the candidate wrote the incorrect responses in item (b) and
(c). In item (b), the candidate incorrectly used the preposition a (to) to
mention the catastrophe. In item (c), the candidate listed words with the
raising tone instead of words with the falling tone.
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3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH

QUESTION IN 123/2 FRENCH LANGUAGE 2

This part presents the analysis of two sections: A and B. It examines the
candidates’ performance in each question in 123/2 French Language 2.
Likewise, the analysis focuses on the number of candidates who attempted
each question and their percentages. Moreover, it explains how the candidates
responded to questions. The candidates' performance in each question is
reported in three categories, namely good, average and weak. In section A, the
scores range from 6.0 to 10 marks, 3.5 to 5.5 marks and 0 to 3.0 marks, out of
10 marks. In section B, the scores range from 12.0 to 20 marks, 7 to 11.5
marks and 0 to 6.5 marks, out of 20 marks allocated.

SECTION A: Short Answer Questions

In this section, candidates were given two questions, namely question 1 and 2.
Each question weighed 10 marks, making a total of 20 marks. Candidates were
required to answer all the questions.

3.1 Question 1: Talking about Measures to Solve the Problem of
Diarrhoea

The question required candidates to propose ways which can be used to
solve the problem of diarrhoea in the village. They were required to
write their suggestions in a paragraph of five sentences. The question
tested candidates’ ability to write a composition on measures to be
control the diarrhoea. The question was as follows:

1. Vous venez de terminer vos études de sixieme année. En arrivant a votre village les enfants de
moins de 5 ans souffrent de la diarrhée. Les villageois sont trés inquiets. [ls ne savent pas &
quoi faire. Donnez-les les conseils de quoi fait pour trouver la solution de ce probléme.

/

Ecrivez un paragraphe de 3 phrases.

This question was attempted by 267 (100%) candidates, of whom, 170
(64.04%) candidates scored from 0.0 to 3.0 marks, 70 (26.22%) scored
from 3.5 to 5.5 marks and 27 (9.74%) scored from 6.0 to 10 marks. The
general performance in the question was weak, since 97 (35.96%)
candidates scored from 3.5 to 10 marks allocated to the question. Figure
11 indicates the candidates’ performance in question 1.
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The analysis of the candidates' responses indicates that 27 (9.74%)
candidates had a good performance in the question. Such candidates
had skills in composing about a particular topic. They also had
knowledge of the topic of diarrhea. They explained measures of solving
the problem of diarrhea in society by composing a paragraph containing
five sentences. Such candidates correctly responded to the question.
However, their responses had a few grammatical errors. Extract 11.1

Figure 11: Candidates’ Performance in Question [

illustrates such responses.
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Extract 11.1: A Sample of good Responses to Question 1
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Extract 11.1 shows responses from a candidate who wrote correct
measures to solve the problem of diarrhoea, although his/her work had
few grammatical errors.

Further analysis shows that 70 (26.22%) candidates had an average
performance by scoring from 4 to 6 marks. Such candidates had partial
skill in writing and measures for controlling diarrhoea. Some of them
wrote general sentences which do not directly relate to the question
asked. For example, one of the candidates wrote i/ faut founir
[’education a les villageois vers bonne santé pour éviter ce problem.
Such candidates also had partial knowledge of French grammatical
rules like the choice of vocabulary and their uses, structures of the
sentences and their meanings. Thus, they ended up performing
averagely in the question. For example, one of the candidates wrote /a
diarrhée est maladie qui avait les conséquences a les enfants, instead of
la diarrhée est maladie qui a les conséquences aux enfants. That is, the
verb avait had to be in the simple present tense as a and the words a les
had to be contracted as aux

Moreover, the analysis reveals that 170 (64.04%) candidates had a weak
performance after scoring from 0 to 3.0 marks. Such candidates had an
inadequate writing skills and knowledge of the topic of diarrhoea. For
that reason, they wrote incomprehensible sentences such as i/ faut
defendre leurs enfants ne pas jouer les sales differents and les gens faut
Sfournir utilisent les nourites qui combien les nutrients. some of them
used vocabularies which were irrelevant to the context of the sentence.
For example, one of the candidates wrote les villageois doivent balayer
les mains et les fruits avant et apres mangent. In this sentence, the verb
laver was supposed to be used instead of balayer. Other candidates
wrote incomplete sentences that did not provide a meaningful
information. For example, one of them wrote il faut pour eviter utilisent
les choses qui n’ont pas. Other candidates wrote causes of the problem
instead of writing measures to be taken against the problem. For
example, one of the candidates wrote les enfents beaucoup souffrent de
la diarrhee parce qu’ils ont manger les repas ou [’eau qui sont
improper. Lastly but not the least, some candidates incorrectly wrote
more than one paragraphs. Extract 1.2 is a sample of the candidates’
incorrect responses in question 1.

43



3.2

| \bﬁo.rr\waa Mjr ung maJacD!tl d\lw cace  abyovgrs  wong

or L:u‘. pasL o L’G:w mu\ font u:nomoof 'Yvaj Lo eﬁ;:tmjﬁ

l'ﬂﬂ.uwui) ,Qu’ oF do ’q chuer {!an!;aau the anJr mm;er

\,U pas _ou -/mu Al .-fon)i rmpropax UQ ‘—CWQ’ Mo

61‘@4@114 a e n;w' Youer ‘Q,m@wn-bﬂ Pcm:mﬂ -

J&\ra.nJr fJOnna.r |o, moa f l}eau oui ,coﬁl( Ewm:ora' Au
ﬂ -
o LQ.J owanJU Ao‘}mn+ Gootpy Q uor of, ’mwmmﬂn" mm

'rmm lc‘.: f‘r‘w,:rcm !imu(l;m mg;.— |an(.rmm2n" quy QA’

/
maJ Caut Lo c!Qn'a”Q;a :

Extract 11.2: A Sample of the Incorrect Responses to Question 1.

In Extract 11.2 the candidate wrote a passage about diarrhoea with a lot
of structural and grammatical errors. Moreover, his/her ideas were not
well elaborated.

Question 2: Making an Argument

In this question, candidates were required to read a passage and
summarise it in a paragraph of five sentences. The passage was about
the life of a character called Emmanuela with her family. The question
tested candidates’ ability to comprehend the written information. The
question was as follows:

2. Lisez le texte et puis écrivez le résumé d’un paragraphe de 3 phases en utilisant vos mots.

Emmanuéle vit dans un petit village s’appelle Mtangimbore qui se trouve dans fa région de
Ruvuma. Elle habite avec sa mére, son pére, sa grand-mére, ses cing fréres et ses deux seurs.
Sa case est trés petite. En fait Emmanuéle habite avec toute sa famille. Dans les autres
maisons du village, il y a ses oncles, ses tantes et ses cousines.

Fmmanuéle 2 12 ans et elle va a I'école a pieds. L'école est trés loin de sa maison. Pour y
aller, il faut marcher plusieurs kilométre. Mais Emmanuel aime bien faire le chemin avec les
autres enfants du village. Elle a cours de 7h30 a 14h30. Pour déjeuner, Elle mange une bouille
ou de Ja pate de mil. Pendant le weekend elle part avec les autres enfants aux champs pour
aider ses parents dans les champs de mil. Elle aime la vie dans son village. Le soir, avec ses
fréres et sceurs, elle va chercher I'eau au puits. C'est aussi le moment de s’amuser.

This question was attempted by 267 (100%) candidates, of whom 22
(8.61%) scored from 0.0 to 3.0 marks, 145 (54.68%) scored from 3.5 to
5.5 marks and 100 (36.71%) scored from 6.0 to 10 marks. The general
performance in the question was good, as 196 (91.39%) candidates
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scored from 3.5 marks to 10 marks allotted to the question. Figure 12 is
an illustration of the candidates’ performance in the question.
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Figure 12: Candidates’ Performance in Question 2

The analysis indicates that 100 (36.71%) candidates had a good
performance. Such candidates scored from 0 to 6.5 marks. The
candidates in this category had sufficient knowledge of contemporary
issues and comprehension skills. They summarised the passage using
their own words. However, they could not score full marks because of a

few grammatical errors as shown in Extract 12.1.
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Extract 12.1: A Sample of the Correct Responses to Question 2
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In Extract 12.1, the candidate summarised the passage correctly. His/her
responses indicate that he/she had enough comprehension and writing
skills.

Further analysis shows that 145 (54.68%) candidates scored from 3.5 to
5.5 marks. This indicates an average performance. This candidates’
average performance was due to their moderate level of skills in
comprehension and grammatical rules. For example, one of the
candidates who attempted this question wrote le fexte parle du vie de la
petit fille s’appeller Emmanuel . Il faut que Emmanuel a 12 ans. The
partitive article du before the feminine noun vie was wrongly used in
the sentence. Moreover, the adjective petit was wrongly placed before
the feminine nous fille. The candidate was supposed to write le fexte
parle de la vie de la petite fille qui s appelle Emmanuéle. Elle a 12 ans.

Further analysis reveals that 22 (8.61%) candidates had a weak
performance after scoring from 0 to 3.0 marks. Such candidates lacked
knowledge of vocabulary and skills in using French grammar. Some
candidates wrote incomprehensible sentences. For example, one of
them wrote elle aime la vie qui en vivant a chez-lui avec ses Freres et
sceurs. Another example, le weekend autres enfants et sesparents avec
ses frere et soeurs aussi le moment de villages. Other candidates wrote
long meangless sentences with no clear meaning. Such expressions
were Emmanuéle est garcon qui a 12 ans qui vit dans un petit village
s ‘appelle Mtangimbora dans la vie il aime vivre et sa meére, son pére, sa
grand-mere et ses cing freres et ses deux sceurs. Other candidates wrote
irrelevant information. One of them wrote Emmanuel et sa famille
vivent dans un petit village Mtangimbole qui se trouve dans le region de
Kigoma, whereas the word Kigoma was not in the given text. Such
responses indicate that the candidates had poor comprehension skills.
Extract 2.2 shows a sample of the candidates’ incorrect responses in
question 2.
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Extract 12.2: A Sample of Incorrect Responses to Question 2.

Extract 12.2 shows responses from a candidate who copied sentences
from the passage irrespective that they were not answering the asked
comprehension questions. He/she also invented own words out of the
passage.

Question 3: Writing Essays on Various Contemporary Issues

Candidates were required to write the friendly letter to a person who
works at UNESCO. The letter was supposed to be on the effects of
employment on children under eighteen years old. The question tested
candidates’ ability to write the friendly letter in the French Language.
The question was as follows:

3. Vous étes Bichera. Eerivez une lettre 4 une amic au nom de Dinka qui travaille  TUNESCO,
en fui expliquant quatre conséquences sur le probléme de recrutement des mineurs dans votre

pays.
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This question was attempted by 128 (48%) candidates, of whom, 79
(61.72%) candidates scored from 0.0 to 6.5 marks, 32 (25.00%)
candidates scored from 7.0 to 11.5 marks and 17 (13.28%) candidates
scored from 12 to 20 marks. The general performance in the question
was average, since 49 (38.28%) candidates scored from 7.0 to 15 marks
allocated to the question. Figure 13 is an illustration of the candidates’
performance in this question.

Scores

m0-65
o7-11.5
m12-20

Figure 3: Candidates’ Performance in Question 3

The candidates with a good performance in the question were 17
(13.28%) candidates. Such candidates had sufficient writing skills and
knowledge of the subject matter. For this reason, they wrote the date,
place and the name at the top right-hand side followed by salutations. In
the main body, they organised their ideas well and explained the
consequences of child labour in the country in detail. At the end, they
wrote a good conclusion consisting of suggestions and opinions. This
shows that the candidates had enough skills in communicating simple
ideas in the French Language. Extract 16.1 is a sample of the
candidates’ correct responses in question 3.

48



M\J\%mo. \Q. 4_Mnaty 2d1%

C\WBte Man amie \%‘Z‘&

Commont - oz VB on Amie Dunka.

Doftds Mo\, 1o Cnhiug  Biew onag

™Moy cuﬁ}\) Ao r&o_ NS Q\chu'& \ ot t\.»\Q &{0\'1"\ ‘

é.o, AMBwy - BRWe C&e W‘Q

U A\nfaime Sus \e ConsGuente  dQ

{ectutomeny  de funous  dany  OOWe

2 Conseduone 5@_ tectu Q“\Q‘\% A\Q AT I

¢ Sansi N

o &fm\amé ,L\ Coslse \a 2 0na

SYO;\'W Rectulernon | mineut  Conse

\cx &@Q&c@-&u\&&uﬂ\ A\ Q\DNQ“\Q{& BN

Condite cllo . afhiko ﬂ dmene ¢

AQ Coaxpox \3 0@&@_\ P commanger

G\ \m C\Qldt\\)k’(/ &Q, \{Qch&emm& &Q

T SASy &@no— Ce N EGuen(o go. .mc_m\

—%\m‘& faxC Gue \\ Mane , \«1 mondye AQ\Q

Ay parcqutl Pya gac \esade |
B ol T\ conse, \os wasls

Poamn  aoq, oo, achwiss de oot ome

ok de mwold dont  a8He  pous  Coule

\Do_cmcé\x? m@\,‘ Lasmy _ Geny Ry S\S‘m\

et dcaue de &\\. \S\MG&\\G\QQ Qs conasg.

:\Sm ol i?cm,rcm,\e\g Yo théaénn{w

los fondle de  dpettn  oledaud wefli fase

e Gorlomend das Wamesu-

T us, W cage  Onuignmedd

Po\\kﬁ\m‘n, Nang V\B\iﬁi fans Ol
couse Vonomedahon  de  Goladis o) ogutanm

Kooy g COE.Q achute Conjudre A,\-@ﬁﬂ

49




2 [nafhine Qi Pwé»ﬂ@ - tnadals St con
\g ?h\\u&m &xm \wé\\o_ ,Q‘J\\I\\WW\Q:&
é\g (\éﬂQ [t
Lo Sudie. W\ Coanse, le@deqgf\m
6@&&(0&&% Aem\_\ \Qs ie@u*mm\& A MR
W( Comse  NetoSim Qasd) Rutce que Beauo
Ve Poddle Om mo@mﬁ Aan ¢ cﬁé\\o\\q
’\s&k\xm Pau pdotpe Machne
Qor w0 BW: ufj RUGE des  mugpoud
Qs , Caff~A- dute \33 e fihuelle, Me
sde , c\p (ﬂcu&m\m& c\@s oot G
Qe \d.Qj(}-&k\m &Q\N\! m Uile P\qc@
\ M&\\N\r\\g Ces  Contemy onl® ey
\o {?m\a\ﬁme do oot omank  Aas munouny
o Tomy o \mf\qr@ Ao Ces GR
5%usnce (2.0t esnonk As tnat
\Dean&x?\@@mux@ge Comme., 1\ ciBe \ Qm?c\o\
‘Carmi 5?\03 aenyd, i\ &0 Cige ie&c&\\i\f\e)\ \ohOtrg

It
M\ o (Y d&\-\ Pad \CC&C& udlle
Doan mngmam\(zggg\ 13( Q\N’Y\a QJ\.QQ‘%LS

AN Oa °
B _&\Qx\ O\m\coﬁmm&

\ Q\\m;q

Extract 13.1: A Sample of the Correct responses to Question 3

In Extract 3.1, the candidate observed all the rules of friendly letter.
He/she wrote all the necessary components of the friendly letter writing.

Further data analysis indicates that 32 (25.00%) candidates had an
average performance, scoring from 7.0 to 11.5 marks. Such candidates
correctly wrote parts of the friendly letter such as place and date as well
as greeting. Nonetheless, they failed to correctly write information in
the main body. In the last part of the letter, one of the candidates wrote
A bientot, Bisous instead of 4 bientot. Another candidate concluded the
letter by writing the word sincerement which is an equivalent of the
English word sincerely. The implication of their responses is that some
candidates did not understand the requirements of the question.
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Moreover, the analysis shows that 79 (61.71%) candidates had a weak
performance, after scoring from 0 to 6.5 marks. Most of such candidates
failed to understand vocabularies relevant to the employment of
children under eighteen years old.

For example, the introductory part of the letter was wrongly written,
with sentences with poor grammatical structure such as je continuez
bien avec mes études. In this sentence, the verb continuez was supposed
to be conjugated as je continue, in another sentence; le recrutement des
mineurs cause les morts des gens qui pratiquer cette activité, the
infinitive verb pratiquer was supposed to be conjugated as des gens qui
pratiquent. Moreover, some candidates used English in writing some
words. For example, in the noun phrase [’augmentation du sol érosion
the candidate was required to write [ 'augmentation de [’érosion du sol.

Moreover, it appears that many candidates did not understand the
requirement of the question. For example, one of the candidates wrote
le but de cette lettre est unforme les consequences sur les probleme de
recrutement des minieurs dans votre pays: -education facile,
professionalite gens, la corruption et communication facile. Another
sentence was En plus, le probleme de chomage est le probleme de
conséquences sur le probleme de recrutement des mineurs. Extract 13.2
is a sample of the candidates’ incorrect responses in question 3.

51



é. » Mwanea, le Ymais €025
Chiere Colheling,

B)&pres Je Suis F@& low,n ek de ows kien (les mes
Meerciule Orut lqcee 46 2AuT. Commenk -aller Vous ©
Je wwe bren Ccmhn.ue duea Mes écduf—e aw Zaféee SAud.

prifo; de sws deril leblre o bl Cmie " Cabhelime
Ou fem de dinko i broedle 0 PUMES (o, Se Surs
G(erL le Leure o t/m Cefnie Four Oo8¢yences Senr le
ﬁmble‘me de rgcrutement J@s M10euss dan e Wokre £y '

le amb €me cfﬁ’Uﬁrespaﬂga;é lile, coprableme cal
Q@ﬂ%#ﬂ(f@meé el amélclﬂw aﬁ’e rgemu A@meﬂ\/ des
uelirs yu le .m«é/etmf’ oo Piraspynsalilite.

En Sugg le ﬁ&aixrﬂ/c’ esh e méleﬂzg g(e
rocy lemand des Mirpuxs guy Guse fe problejpie
rarsons povy CUISey gTLLes Gus Lo M&W
rgaﬁ}ﬁmm! dbs /Wﬂrews .

En plug e mL leme de chemage . est le
iomﬂ@ me dé’ Egiiéamw Eur (em%/e‘me u:/e
rocrulemen & [Mnevrs,

Lot ﬂﬁ rzujwmm} aﬁrméfzfme ﬁ{ﬂ
reMemwf eéaf finteuss dons Lm‘ns PEUS - Lo
poshwer esh{fe M(é‘Me ie recinls pent

S MNeuts
/rn/l;! A
711THRS
ithner O,

Extract 13.2: A Sample of the Incorrect Responses to question 3

Extract 13.1 shows responses from a candidate who wrote the friendly
letter with a lot of grammatical errors and incomprehensible sentences.

Question 4: Analysis of Works of Art

In responding to this question, candidates were required to explain four
themes found in one of the works of art. The question tested candidates’
ability to analyse French literary books and using themes conveyed in
the books to reflect the reality in the society. The question was as
follows:
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En utilisant I'un des livres de frangais que vous avez lu pendant vos ¢tudes au Tycee,
expliquez quatre thémes en donnant les exemples appropries.

A total of 264 (98.88%) candidates attempted the question, of whom 7
(3.03%) candidates scored from 12.0 to 20 marks 77 (29.17%) scored
from 7.0 to 11.5 marks and 180 (67.80%) scored from 0 to 6.5 marks.
The general performance in the question was good, since 187 (96.97%)
candidates scored from 7.0 to 20 marks allotted to the question. An
illustration of the candidates’ performance is shown in Figure 14.

100 +
90 T
80 T
70 +
60 +
50 +

67.80

29.17

Percentage of Candidates

0-6.5 7-115 12 -20
Scores

Figure 14: Candidates’ Performance in Question 4

The analysis reveals that there were 180 (67.80%) candidates with a
good performance after scoring from 12.0 to 20 marks. Such candidates
clearly explained four themes from the French literary book, and they
provided appropriate examples from the selected books. The language
used in explaining those themes was clearly understood, despite a few
grammatical errors. In the introduction, some of them identified the key
terms from which they wrote the title of the book, the year of
publication and the writer of the book.

In the main body, the candidates explained the four themes with
appropriate examples as shown in the selected book of art. They divided
the main body into four paragraphs, each with a single theme.
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Moreover, they used cohesive devices such as firstly, secondly and alike
to make their work attractive to readers. They also provided appropriate
examples from the themes they provided.

In the conclusion, the candidates summarised what had been explained
in the main body. Moreover, they briefly gave suggestions, opinions
and ideas. This proved that the candidates had enough skills in book
analysis. Extract 14.1 is a sample of the candidates’ correct responses in
question 4.
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Extract 14.1: A Sample of the Correct Responses to Question 4

Extract 14.1 shows responses from a candidate who correctly wrote
four themes in the novel les Frasques d’Ebinto. The arrangement of
ideas is good, and the language used has only a few grammatical errors.
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In addition, 77 (29.17%) candidates performed averagely in the
question after scoring from 7.0 to 11.5 marks. Such candidates had
moderate skills in book analysis. They identified the themes of the book
but failed to clearly explain them in detail. They also failed to provide
appropriate examples of the themes they explained. As a result, the
candidates scored average marks.

In adddition, 7 (3.00%) candidates had a weak performance for failing
to understand the requirement of the question. These wrote the
summary of the book instead of writing the themes in the book related
to the society. Such candidates to score low marks for the lack of
knowledge of book analysis.

Furthermore, the poor sentence structure also contributed to the weak
performance among the candidates. For example one of the candidates
wrote Ebinto ce garcon qui habite ou Akounobe village avec ses
familles. The sentence was supposed to be written as Ebinto est un
garcon qui habite a Akounougbé  avec sa famille. Another
ungrammatical sentence by the candidates was la mere d’Ebinto a lui
envoyé a l’université pour chercher lui avenir mais Ebinto a décidé
s’engager avec la relation.

Moreover , some did not provide appropriate examples for the themes
they provided. For example, one of the candidates wrote Ebinto traite
mal son autres comme Rouge, il Ebinto trait Rouge comme robot dans
chambre de banana. In this sentence, the candidate provided a wrong
example “that Rouge was a manager of a banana plantation, instead of a
worker of the banana plantation”. Additionally, the sentence was
ungrammatical, leading to the candidate’s score of low marks in the
question. Extract 14.2 is a sample of the candidates’ incorrect
responses in question 4.
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Extract 14.2: A Sample of the Incorrect Responses to Question 4
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Extract 14.2 shows responses from a candidate who wrote an answer
with incoherent flow of ideas and full of grammatical errors.

Question 5: Mass Media

The question required candidates to agree or disagree with the statement
provided in the question. The question was about the usage of the
internet in our daily life. Candidates were asked to provide any four
arguments to defend their responses. The question tested candidates’
ability to express themselves in the French Language. The question was
as follows:

5. La vie est devenue plus facile en utilisant fintemet. Etes-vous d'accord avec cefte
affirmation? Proposezquatre raisons pour défendrevotreréponse.

The analysis shows that 174 (65.17%) candidates attempted the
question, of whom, 8 (4.60%) scored from 0.0 to 6.5 marks, 53
(30.46%) scored from 7.0 to 11.5 marks and 113 (64.94%) scored from
12 to 20 marks. The general performance in the question was good, as
166 (95.40%) candidates scored from 7.0 to 20 marks allocated to the
question. Figure 15 is an illustration of the candidates’ performance in
the question.
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Figure 15: Candidates’ Performance in Question 5
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The data analysis reveals that 113 (64.94%) candidates had a good
performance after scoring from 12.0 to 20 marks. Such candidates
understood the requirement of the question going by how they clearly
explained four arguments and provided appropriate examples related to
their arguments. For example, in the introductory part some of the
candidates explained the key terms such as meaning of internet. Some
of them briefly introduced what they were going to discuss in the main
body. In the main body, they explained four arguments related to the
usage of the internet in the society. Some of them agreed that the
internet makes life easy through its numerous advantages while others
disagreed. Further, they divided the main body into four paragraphs
whereby each of them presented a positive or negative effect of internet
towards the society. Moreover, they used cohesive devices such as to
begin with, moreover, in addition to that and alike to make their work
attractive to readers.

In the conclusion, the candidates with high scores summarised what had
been argued in the main body and briefly gave suggestions, opinions
and ideas about the positive usage of the internet. Overall, there were
minor grammatical errors in their responses as shown in Extract 15.1.
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Extract 15.1: A Sample of good Responses to Question 6
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Extract 15.1 shows responses from a candidate who wrote a good essay
on the uses of the internet and how the society can benefit from it. The
candidate used a simple and clear language despite a few grammatical
errors, which led to the reduction of marks.

Further analysis indicates that 53 (30.46%) candidates performed
averagely in the question. These scored from 3.5 to 5.5 marks. Some of
these described only one or two arguments. Others accepted the
argument in the introduction, but focused on the disagreement in their
explanations, leading them to scoring average marks.

Moreover, 8 (4.60%) candidates who scored from 0 to 3.0 marks
demonstrated a weak performance. The analysis shows that such
candidates understood the requirement of the question but failed to
clearly present their ideas due to the low mastery of the French
language. Some them wrote incorrect sentences such as I facilite la
communication ; chacuns personne sont utilisées les internet pour faire
la communication avec ses amis ou dirigeant dans autre pays de
Tanzanie. Such ungrammatical sentences clearly indicate that the
candidate understood the question but failed to organise their ideas
logically.

Some candidates wrote meaningless sentences in the French language.
One of such candidates wrote pour fournir d’imploi a chez gens dans la
société, aussi parce que maintenant a traver d’internet nous obtons
d’imploi pour travaillera autre secteur. Such incorrect sentences show
that the candidate’s insufficient vocabulary power hindered him/her
from expressing themselves.

Moreover, some candidates’ essays were dominated by the repetitions.
For example, one of the candidates wrote pour simplifier le travail dans
la société, aussi a travers d’internet nous obtons pour simplifier le
travail qui se trouver dans notre société comme le travail de
communication et les autres travails. In this example, the candidate
used the word simplifier two times unnecessarily. Generally, the
candidates lacked skills in essay writing. Extract: 15.2 is a sample of the
candidates’ incorrect responses in question 5.
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Extract 15.2: A Sample of the Incorrect Responses to Question 5

In Extract 15.2, the candidate wrote the use of internet but failed to
express his/her ideas due to the low mastery of the French language.

Question 6: Making the Public Aware of Certain Calamities

(INONDATION) /Making an Argument (Debate)

In this question, candidates were required to write an essay about the

causes and solutions to floods. The question tested candidates’ ability to
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write argumentative essay by following the rules such as the
introduction, main body and conclusion without forgetting the proper
use of French grammar. The question was as follows:

6. 1. /inondation est un probléme trés grave en Tanzanie qui face les Tanzaniens pendant la
saison de pluie. A votre vie quels sont les causes de ce probleme (donnez-les deux).
Donnezdeux solutions pour résoudreceprobleme.

The question was attempted by 247 (95.50%) candidates, of whom 8
(3.64%) candidates scored from 0.0 to 6.5 marks, 123 (49.80%) scored
from 7.0 to 11.5 marks and 116 (46.56%) scored from 12 to 20 marks.
The general performance in the question was good, since 239 (96.36%)
candidates scored from 7.0 marks and above. Figure 16 is an illustration
of the candidates’ performance in this question.
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Figure 16: Candidates’ Performance in Question 6

The candidates with a good performance in the question were 116
(46.56%) candidates. These wrote good essays about the causes and
solutions to floods (inondations) by using appropriate French
vocabularies. They started by defining the key word inondation and
cited areas affected by floods such as Dar es Salaam, Morogoro and
Rufuji. In the main body, they organised their points from the causes to
solutions. At the end, they gave suggestions to the society or
government. This reveals that the candidates were well equipped with
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information about calamities such as floods. Extract 16.1 is a sample of
the candidates’ correct responses in question 6.
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Extract 16.1: A Sample of the Correct Responses to Question 6

65



Extract 16.1the candidate wrote good essay on the causes, effects and
solutions to flood. The candidate used simple and clear sentences to
elaborate his/her answers and had minimal errors in his/her essay.

Moreover, 123 (49.80%) candidates attained an average performance in
this question. Such candidates had partial knowledge of the causes and
solutions to floods. They correctly wrote some of the required points,
despite a few grammatical errors. This reveals that the candidates
understood the question but failed to present their ideas and defend
points they raised as expected.

The analysis also shows that 8 (3.64%) candidates had weak
performance in the question. Such candidates failed to organise their
essays coherently. Their introductions were not well elaborated, the
main body did not contain the key points and they did not conclude
their presentations. This implies that the candidates had insufficient
knowledge of the topic and lacked enough vocabulary to use in their
essays. Extract 16.2 is a sample of the candidates’ incorrect responses
in question 6.

66



| 06 A moncloﬁhioﬂ cloit ﬂg ;’f-uokm b | oy
({g /E/eau uypm ,é{mq,{ 5 1 ;/ a '11\94 un
probliop  qee e Torponia q{n‘ /bacg oy Toroontont
i T;s;ent‘cﬂ} ’qu LGton clo xé\uua ,c; V‘jﬁ? V;ﬂ cluulll
kg s e & o Pmum“w
W-mm‘mmmr/t I')Mcu'wr\ -ma{ e qm I—Q pwm olg
"Eq oot s o0 shucion \:L:nr por),e 20 \m&cmh
A oenddien ot e au 1 prew do ,Qq
ML £ mnh$m dons ‘po-vj.r Qr‘\ forpor e N
Qe /?.f\'nww‘o)h‘m lgs U\Ct‘:n'\em fSPﬂl{U\‘\' 'E«:a )
i Puk,

PR Q_’mamlvi'mﬂ ‘QIJ(’ Cowie Qm ‘9 prQ)-eﬂcQ
r b Do e cwrfq,dnm os c‘@a&r\hn kungoss
{’Twmclot*}m est e lt:q,ui o @regne b b |

. ceoruphon o m A\‘QEW'Q;O (fwm‘mx o @ue
| R ' ﬁbnspr@clﬂm pc\ ¢ i’{fl ﬂd nes) ['\37 6{0@;{( oo Lroum
pa, cgms G‘anuu P@/"Am\’ /ﬁq écu Lon Ck} é\m

i II Y q '\-“}"UP‘IOHJ F’DUJ’ fQ&ouncl*Q @

=]

'““l‘gmmmm* Doy do Lo J Qduwjﬂm 6uu Tnaomon

pcur '\D._SQunc,fQ <73 pT‘D!S’m .st"m& ’ CLQ ﬂ ’?C(Qﬁvl’!m
dm’ longenlens  pour | rdounde @ mbfgmp quzsz
Fonontens Pouwr'm ermfonb s g qrm eurrhe

@ _{omn P:mldr{' Qa @gen cfp Am,
O Smerhont ED preeny Ja P,Q sy Lsm m*_mc‘_'en
' Q!m-f iﬁtlbo@ ci'ﬁgxucnfm {‘rciu.!z clons ";23' 10(%;@
'rg prowce do |h0 @)JLnscI:\Qn cti-'nf seeiohs’ d:@ﬁmhw)
qu "Toaw  dov Temersn Tonele  done poe- rdicads
Cn_; Mﬁm\ I -
‘ 4nml&rrmh ‘/ifnmctokm Q.nL un Pﬁ‘»u}fmo, l"\'?a
q-—cxm 2n Toamie qu; dece lot fct\';\mm peﬂ{é:ﬁ\‘ o Coueed
c‘p 6\‘,,;[ émt EU mwm Jc tc[ua':@"lcn Q8 qms m NJO\LC\N Q pockidmo.

1)

Extract 16.2: A Sample of the Incorrect Responses to Question 6

Extract 16.2 is a response from a candidate with the low mastery of the
French language. As a result, his/her essay was laden with a lot of
grammatical errors and incomplete messages.
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3.7

Question 7: Making the Public Aware of Certain Calamities
(EARTHQUAKE) /Making an Argument (Debate)

In this question, candidates were required to argue on four (4)
consequences of the earthquake. The question was as follows:

7. Le tremblement de la terre est un bouleversement qui est inquiétant dans certain réglons de la
Tanzanie. A votre vie quels sont les conséquences de ce probleme (listez-les quatre).

The question was attempted by 252 (94.38%) candidates, of whom 20
(8.33%) scored from 12.0 to 20 marks, 63 (25.00%) scored from 7.0 to
11.5 marks and 169 (66.67%) scored from 0 to 6.5 marks. The general
performance in the question was good, since 232 (91.67%) candidates
scored from 7.0 to 20 marks allocated to the question. Figure 17 is an
illustration of the candidates’ performance in the question.

100 +
90 +
80 +
70 +
60 +

66.67

i
]
]

1

30 + 25.00

Percentage of Candidates
n
)
|
I

oo
[F'S)
%]

[a]

7-11.5 12-20
Scores

=
]

(=

EJI

Figure 17: Candidates’ Performance in Question 7

The analysis shows that 169 (66.67%) candidates with a good
performance in the question correctly wrote four consequences as it was
required. They started with defining key word tremblement de terre.
They used vocabulary and linking words like aussi, d’abord,
premierement, deuxiement, puis, et puis, ensuite etc. correctly. This
indicates that the candidates understood the question and had good
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knowledge of earthquakes. Extract 17.1 is a sample of the candidates’

correct responses to the question.
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Extract 17.1: A Sample of the Correct Responses to Question 7

Extract 17.1 shows responses from a candidate who wrote a good essay
on the effects of the earthquake. The candidate organised his/her ideas
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in a logical order and defended his/her points satisfactorily well.
However, he/she committed a few topographical errors in his/her essay.

Meanwhile, 63 (25.00%) candidates attained an average performance
on the question. Such candidates understood the question but failed to
write the effects of the earthquake in required detail. That they could
not elaborate their points clearly, which made them to score average
marks.

Further analysis shows that 20 (8.33%) candidates who scored low
marks in this question lacked knowledge of the earthquake. Likewise,
their essays had illogical arrangement of events and used wrong diction
in most parts. For exemple one of the candidates wrongly used
coordinators such as puis, d’abord, et puis, en bref. Another candidate
wrote ... temblement de terre la mort occure parce que la chute tombée
a la societé et destructs cette maisons qui dans la maison il ya le
personne. Moreover, they did not follow the principles of essay writing,
namely the introduction, main body and conclusion. This made them
score low marks as demonstrated in Extract 17.2.
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Extract 17.2: A Sample of the Incorrect Responses to Question 7.

Extract 17.2 showcases responses from a candidate who failed to provide the
consequences of the earthquake elaboratively. Likewise, her essay lacked the
logical flow of ideas.

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
TOPIC

The candidates were tested in 10 topics in French language subject. The
general performance was good as it can be noticed that 98.87% of the
candidates passed. The topic with a good performance were Direct and Indirect
Speech 97.00%, Making the public aware of certain calamities (e.g.,
HIV)/Making an argument (debate) 94.10%, Talking about the causes and
consequences of natural catastrophes 91.67%, Analysis of Various Literary
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works 91.39%, and Phonology 64.04%. The analysis shows that the good
performance is attributed to the candidates’ ability to understand the
requirements of questions and their sufficiency in knowledge and skills in the
topics tested.

Further analysis shows that the candidates performed averagely in the topics of
Locating places 58.80%, Expressing wishes 57.70%, Talking about different
experiences (past, present and future) 42.32%, Writing for various
contemporary topics 38.28% and Translation 37.08%. This implies that the
candidates had partial knowledge of the topics and insufficient vocabulary to
use in writing essays. It should be noticed that there were no topics with low
performance.

The performance of the candidates in the tested topics is summarised in the
appendix 1, whereas green colour indicates that the topic was well performed,
yellow colour indicates that the topic was averagely performed while red
colour indicates a weak performance.

CONCLUSION

The candidates’ performance in French Language subject in the 2023 ACSEE
was generally good, considering that 98.87 per cent of the candidates who sat
for the examination passed. Such candidates understood the requirements of the
questions and had sufficient knowledge of the subject matter from which the
questions were set. Likewise, they applied French grammatical rules and
principles to correctly answer the asked questions. Further analysis of their
responses indicates that some of the candidates performed averagely and
weakly. Such candidates lacked skills in using French Language grammatical
rules. Other candidates in this category failed to understand the requirements of
the questions; so they gave irrelevant responses.

RECOMMENDATIONS
According to the analysis of the candidates’ item response, the following
recommendations are made to improve future candidates’ performance in
French Language subject.

(a) Teachers should put more effort in teaching the topic of Talking about
different experiences (present, past and future), Talking about the causes
and consequences of natural catastrophes and making an argument by
using images, passages and photos.
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(b) Teachers should guide students to read more books to increase their
vocabulary to enable them to express themselves and write good essays.

(¢) Teachers should give students different texts and task them to read and
write summaries out of them to improve their summary writing skills.
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Appendix

The Candidates’ Performance in Each Topic, ACSEE 2023

S/N

Topic
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6 | Locating places 58.80 Average
7 | Expressing wishes 57.70 Good
8 | Talking about different 42.32 Good
experiences (past, present
and future)
9 | Writing for various 2 38.28 Average
contemporary topics
10 | Translation 2 37.08 Average







